SHIKSHA VIKASH SAMITI, ODISHA ™

Pre Summative Assessment - 1 (2021-22) %
Class : IX Sub : English
Time : 1 h. F.M.: 40

PART- | (OBJECTIVE)

1. Each question has four answer choices. Select the correct one. (1x20=20)

i) Before taking leave of writer, Maggie requested him to
A) Console her mother C) search her brother

B) remember them. D) remember to write them
i) Maggie's face filled with gratitude. As she thanked me her voice -
A) trembled C) stopped
B) chocked D) raised
iii) The unigue attempt was made on :
A) 22 January 1992 C) 28 July 1994
B) 28 July 1992 D) 29 July 1992
iv) 'Janaki Maritime express ' was the name of the relay team given by the
A) American swimmers C) English swimmers
B) English channel officials D) Indian swimmers

V) Kalam began his career as a trainee at :
A) ISRO C) DRDO

B) NASA D) HAL
V1) Dr. Kalam was popularly called the missile man of India after the success
of :
A) Integrated Missile programme C) Lunching of Rohini Satelite
B) Nuclear Testing at pokhran D) Development of four missiles

VIl) What is the permissible age for driving a commercial vehicle ?
A) 20 years C) 16 years.
B) 18 years D) None of the above
VIII) The expression 'distracted driving' means
A) absent minded C) zero tolerance

B) alertness D) caution



IX) Sulochana was convinced that her husband was

A) a moral person C) a righteous man

B) an excellent idol maker D) a sober person
X) Who accepted the ancestral profession ?

A) The youngest son C) The second son

B) The eldest son D) All the above
Xl) What was the favourite sweet of the child ?

A) jalabi C) Burfi

B) rasagulla D) gulab jaman

XIl) The parents would say,"He was too old to play with such toys"
This event happened near
A) round about C) flower seller

B) snake charmer D) balloon seller

XII) The subject in the sentence "Stand up, Students" is
A) you C) students

B) sit D) down

XIV) Everyone went to attend the feast. Choose the part of speech of the
underlined word.
A) verb C) adverb

B) pronoun D) adjective

XV) You must not enter into the dark room. The underlined word is

A) modal auxiliary C) main verb
B) primary auxiliary D) action verb
XVI) You ought to your seniors.
A) obeyed C) obeys
B) obeying D) obey
XVIl) Thieves must have the ornaments.
A) Steal B) stole C) stolen D) stealing

XVIII) we are going to leave for Baripada tomorrow. The underlined verb
groups indicate time.
A) present C) past

B) future D) none of these



XIX) winter comes after rain. The underlined verb expresses

A) running commentary C) permanent State

B) scientific truth D) laws of nature
XX) An auxiliary verb always comes beforethe  verb.

A) regular C) main

B) weak D) strong

SUBJECTIVE (Part-II)
Figures in the right hand margin indicate marks.
Answer all the questions in your own words as far as practicable.

1. Answer the following questions in about 50 words. (5x1=5)

Why was the shilling, Maggie presented to the writer, an invaluable offering ?
OR
What were the problems faced by Janaki while swimming in the English channel ?

2. Answer the questions in about 50 words. (5x1=5)

What is the aim of road safety campaign ?
OR
How did Dr. Kalam get the title" The Missile Man of India ?

3.Answer any ONE of the following questions as per instruction (5x1=5)

given in brackets.

i) Write an essay on ‘Summer Season’ (in about 100 words).

i) Suppose you are Subhankar Chottaray, living at Keshabdham, Gatiroutpatna,
Cuttack. Write an application to the IIC of your local Police station about theft
of your bicycle (in about 50 words).

iii) Imagine your are Kalyan Ray Mohapatra studying ssvm, Remuna in Balasore.
Write a letter to your friend describing him how you spend your time during

COVID - 19 situation. (in about 50 words)



4. Read the passage carefully and answer the questions.

Once there was an old man . His only son fell into bad Company. The old man was very
sad at heart. He tried to make his son understand that he was ruining his life, but in
vain. The son did not care about his father's advice. One day an idea struck to the old
man. He bought a basket of fresh apples. Then he gave an apple to his son to eat. He
told his son, " You can eat an apple everyday from the basket." The father then put a
rotten apple in the basket. The next day the son found that all the apples had become
rotten. He was surprised and asked his father what had happened. The father told the
son that it was the effect of the rotten apple. So the son learnt a lesson. He gave up
the company of a bad friends and soon grew up into a fine gentleman.

Questions (1x5=5)
|. Why was the old man sad ?

Il. What did he advise his son ?

lll. What was the effect of the rotten apple ?

IV. Why were the son surprised ?

V. What change was seen in the son’s behaviour ?
OR

Translate into English. (1x5=5)
@) 29 SMRAER @ dIoFIQ 2L |

d) @64 992 ¢l QIQER 2LE |

G) 64 PEQQ 64R 266a JIOIFIQ 6HING |

@) @ AT6R 21RRIPIAIEE 9T GAUS B TS |

@) QI0IIR 6908 P IR |
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Lo AR

PART- | (OBJECTIVE)

1. QI6QIG AN RAQ kI O ARG QUT 6RY | (1x10=10)
i) 1l 69R XX FRAS! AT |
(A) @R (B) Q@& (C) @52 Q4 (D) OB
i) 66IGN 6410@ X Q 6AINGI 3 | Y21 QNG 6 6QANGR °6Re LalREE! -
(A)XO0,XCL,  (B)X,0, XCl (C) X,0,, XCl, (D) X,0,, XCl,
iii) QRIS 60K YR Y@ QP ?
(A) 9IQ 621Gl (B) QIRELIERR (C) AFIQRIEY (D) 2RI
iv) RAGAC ARETER LERS |
(A)AISO, (B)AI(SO,), (C) AL(SO,), (D) AL(SO,),
v) CH,0,Q 2Eea 929 |
(A) 180 u (B) 180 g (C) 176 u (D) 100 u

vi) CaCO,: & QCI§ Q& : : Na,CO, : |
(A) ¥ JQIE] S8 (B) 9 LI GE€ (C) N Jaglig 38 (D) € daglg Fda
vii) QEIE] FRIER @ QIRC @8Rl Q62 ?

(A) ERALR.  (B) 62I9QR, (C) GgqeQ (D) F28%,
viil) AP 6P QEM@SR Qs I
(A) 1 (B) 2 ©)0 (D)8

ix) 691N @ QeIRT 4 6ACRWER 16 TR 8 IRR 2 626RFER 16 JoR 06! AR
6, QIRIR LIRILIR 693 |

(A)5m/s R (B) 8 m/s (C)5.33m/s (D) 6 m/s
x) R g4IRgiQ IYJIR 6960 AAY J6Q gR 62 ?
(A) € Q& (B) ¢ dag (C) ©9 Q4 (D) € 696a<)
_ __ PART-1I (SUBJECTIVE)
1. @) 90l FIEQ QERe @dR J2e FAIIRUIRS ? (2)
@9l
IR 2R @6 ? QG RIS &2 |
¢) Qu6 FIURAQ! GaRg @dQ Jele QUK ? (3)
@9l
2R 99Q @' ? NI FINCAERTR ZISRR 9gQ Fda Aa |
2. @) 2RCRIERAR 6R6RIGT ARCALTIC 2R ? 6996 FIF 8 o1 6md | (2)
@l

601G @9 RIegIq U9 AREAHIER FI6 anl U6 10 6A6REER OI'QA QA 5 m/s2
626M, @ AAGEQ G @60 QG IR ?
) QLEAsTIeE RIIGRI CaIdia 818 9Ee 6nd | 3)
@9l
696 B IREG RIEQ AIRY 6Rd |
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RN IR
PART- | (OBJECTIVE)

1) QI6QIG AN RAQ FkIQ O ARG QT 6 | (1x10=10)

i) 62Q0NAT 2T 619G QIS QLI ?

A) A2l B) AIREKICRIAFT C) AR6AQ D) 6QGm2|
ii) 699 999 YISNAIER 68TFE2 FIRU 6997 Ry ASHTE KRG ?

A) IGRG| B) 26! C) 6€IQS D) aIgrgell
iii) 19 IBA 6THITS FIFR 6QAAT @’¢1 ?

A) dIR6AL B) BURG! C) QUREIF D) AITQ¢
iv) 68611 SQIG AFG QL6 AF0IQ YO SRUGG @’ @RI ?

A) Q°4l B) 9§ C) 9RIG D) @I
v) AFEAULTE ATA6Q 1GUE Fea ARINEISS 69Q QTP 6QSIANR2AIG?

A) A% B) 49@ C) enqell D) clIg2l
vi) A8Q19e @9 TR 6m ?

A) Q96 ER  B) Q99 QIR C) Q6% D) JQaaR1
vii) 699 6918 2GS QIS 6QIT6R 21N Ag DD 6QIT6R & 21 ?

A) RSR B) 6968L6%QIF] C) QAR D) 6RI8Q@
viii) 6QITRRFER 60 2SLI6R 6GI6I6RIFER 2T 9RE 6RSIN 651F1ITE 6QlIAIg ?

A) 661G162P@  B) AIFIELQ C) Femi6cra D) 6QI6CPR
ix) FIRESIRGAER QG 629 FBYFIQ R @61 ?

A) ATP B) DNA C) RNA D) WBC
x) IFIRE FRIQ 69RF ATYA°SIRG AFRI 263 ?

A) RIREAIERIT B) RUT C) AUREIERIC D) ReQ

PART- Il (SUBJECTIVE)
1) §€ 9 Q@ &2 |

i) dIf FYRQ 6218 B RUT 6919 c1I6R Aliay Q412 | (3x1=3)
Qe
651RQ ISR ISR AIIQE T 6RS |
i) RYI9 KIC FEEM @’ 98 ? AQIEAE AL 6@ | (2x1=2)
Qe

60Q IR dignelies AP FliR IS 9Ll G QT ?
2) 29 49 2 & |

i) FIREFNRELIA QIFIFE 56 AT A | (3x1=3)
@l
6RIVTRIA G106 B RIY 6RS |
i) YN VIR 6062 RIAR ARG 69R 9106 B 69 2’6 @’8 2 (2x1=2)
kel

Q99 Q98 SR AI2Ig 9LITN 6 RIZG ?
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e faera afafa, eifeem
g gAfeT AWAT - ¢ (08-R) ©

fawg - g smar R
gHY - ¢ °er 7. 9. -¥e
PART- | (OBJECTIVE)
?. U TF 2qeg H 3 dIfAU] ($%0=0)
i) FFER T HoT fohd hgT AT & ?
A) FHR I B) #CHT &l C) Sherdl &l D) golel &l
i) gfafesT fraehr gy gidr o 2
A) T Fr B) G&r &r C) g&r &hr D) & &r
iii) 9T9-9UT F4T § ?
A)aT el B) ar &rsf C)ar fel D) ar |TATT

iv) Tar AT FieT giar & 2

A)Sl AU & HT Y ST & C) Sl W & THAY Ay &l &

B) ST f&eT-I0d &A1Y &l & D) S T @Y H [{T &
v) fhareT o T fgT & fohdell SR $9TdTeT T AT THROT foham ?

A) IR SR B) dieT aR C)ar IR D) T& &R
vi) e e et aRE Y el e ?

A) fasor Sren B) &1 °lleh C) 319a1 T D) foraTeT & urd
vii) AYATT fRd gl =T § ?

A) fhareT &t B) #sigY &l C) SIferT T I D) =TT | Sl
viii) MRS fhd AT =T § 2

A) &3t el B) SITEHTT &l C) S =l D) dTehclaX
ix) frd FAARN Fgr g7 ST Thar ?

A) HH I dTel i C) #H TTelel dTel &l

B) 3IRTH &l dTel i D) STEHUT &l
x) foreTehT 3cQforT AR S &l el ofaray o 2

A) et 1 B) =gh r C) drdr r D) SeT &
xi) CEXGeT STt  HFsr TR AT = oA 2

A) dra B) sl C) Fafsar D) frergiar
xii) faTergdr & sl # qu HE Temar a=m ?

INEIGE K] B) T&H T C)%¥ & D) frema &

xiii) TeheTeRT SflaTeT AT 3R 3oTST E3M w1 AT 2
A) &Hfeat & B) oi@& T C) StelR &l D) ST &7



xiv) fSeteh 3TaROT & H@ fqa @ a1gT 3T §aT HT el =1 Hel quT A7 1A
IR Il 8, 38 FT Fgd & ?

A) TR B) <TTeT C) HgFd D) g ¥
xv) fAfREd e & Tl Ue 3Ty QX 31T H T I § FAT AT & ?
INEIC2 B) 2sG C)Ug D) $TST

xvi) ErIFaY 3TIRYT d JHT Thdal THT @aAT A1fgT ?
A) TF T[T B) dlleT I C) IR =T D) g
xvii) IREdT a1 AR Fdel YR & Al H BIaT & ?
A) & YR B) i Uk C) R YR D) 9T YR
xviii)' 9gTS ' SIA-TT AT ?
A) ST araes @ C) uRATvTar=S AT
B) a&q draeh & D) safadaraes da
xix) 'ATS" - foier sefiv|
A) TS S)GIED) C) &gt D) =AT$air
Xx) 'IEAT - S I agaa?rmi%@ml
A) gfeat @t B) &1 C) §gT &1 D) ¢ &l
Part — II (Subjective)
2. ST 30 AYsal A W AT | (4x3=9)
GENIGeT el 3 5w ot $Hd el od ¥ & & T HE ?
37gar
O 7 T T HIS HFAAIT FAT 16T g7 ST ?
Q. WS 30 el A 3w AT | (sx2=9)
foaTT Ia-TaaR & S e & FIT AdiolT aldl g ?
37gar

fasoy o foharer @t Fat raas et 2
3. Afaf@a aepede #1 ggat @ AT WAl & I F T

aFg # dfSw| (2x9=Y)
gz@oﬂddaﬁﬁiddl%Ia%’aﬂa’rqcoﬁasrgd{f?l@rm%Iageﬂﬁshaﬁﬁw
STT § | dlfeh §H qX Tl ol ETAT STel Heh AR U o S0 W@el & T
Sl Y | S Sl & FEIAT AR GERIA 1 AAT gier § | el & HROT 3T
fdeq 7 eehe @WT ¥ | 31 Sfarey, Yfard, QaT Fall cg-aig & @ar &d § | Far
FA IAMIAT oleT IR T § | A oot ol & w7 3roe w@d &1 76 W §1 A
3 Sftaet &1 #aterat aX QU §1 gAR §pfd & 9T W § | AR d@Epfa §
- "RIYSRT T | W & AT HH FH S §, 54 3T & IROT Sl A3l




%) 3T FeaT T §oR Fid W@ § 2
) faeq 3mer fohe ehe H @aT § 2
) fohegiel 31TeT SfiaeT &l gid 9 @MU & ?
) AR TERTT FAT & ?
) TEIAT IR &P #1 fAATor fhad grar g 2
8. AT & RS # 3rgarg Afaw (2x4=9)
F) QO TUIRY 6Q IR Q@ QTR 2T
) 92 Y0 Q 2965 2F|
) @64 QIR LI 9Q FAAG|
) 26Q 26aq 9Rla @ IR 2a|
) 9@ QF0l & AuRa @ 6dedy 98 @6l
37qar
fAdearar 3w 9w (2x9=Y)
%) gl ¢R-4R ST W § |
R@ifrd ereg ‘g &1 Tl dealht arery &l e & faf@n)
) A & A3 Tl |
(@fehd eTee IIfSAT T TdeT Jeole arFg 1 Y & faf@u))
aN) 'HER T Higards Far faf@e |
) '9Td: el - $HT [dellA UAsq fAf@T]
°) Gl - AT AW 7Y faf@u)

o
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SHIKSHA VIKASH SAMITIL, ODISHA =%,
Pre Summative Assessment - 1 (2021-22) ®,

Ty ™

Class : IX Sub : Mathematics
Time : 1 h. F.M.: 40

PART- | (OBJECTIVE)
1. 36918 g6oUR g9 Q16T AN AR FRIQ OR @SR eadll  (1x20=20)

i) (4UB)-(4nB)=(4-B)uU I

A)B-A B) AN B C) AcB D) AUB
ii) {x|xe 4 Ql xe B} Q635G QoI goo e |

A)A-B B) AN B C) AUB D) AcCB
iii)|4AB|=8,|4|=12,|B| =14 ca6m |4 B|=

A)6 B) 18 C)9 D) 10
iv) ¢ " ERoR 9o6H @Y MR A6 ?

A) 90RQ B) 6069 692169 C) eleng D) QIAg
V) 37" = 27 686m X QOIR 6860 ?

A)2 B)3 Q)1 D) 4
w 3 ~
vi) - © IR TEAKTIER 6760 CAISAER CITEIR 16997

A) 2 B) L C) L D) —
3 3 4
vii) 2x + 5x%y + 3x’ y’ dREQICRING Qo 6060 ?
A)3 B) 4 C) 6 D)5
viii) x° — 64 REAFPING QLS FEaIE 6066 ?
A)6 B) 4 C)3 D) 8
ix) G0 6066’ 2x — 8 = () AIRAETR AR ARG 266 2
A)5x+2=0B)2x+3=0 C) 3x-2=10 D)2x-1=0
X) 691N Qalio IRERIFIRINA P(x) Q@ G6RIgE 2 6 -1 626m LY ANRASK @81 629 ?

A) X' —x—2=0B) ¥’ +x-2=0 C) X +x+2=0 D) 2 +x—4=0



Xi) 826 gela AARERS! DR TUGERNER 6AERIE FQER 682 A6 ?
A)21 B) 15 C) 18 D) 20

Xii) 50 690 6@60 GO ?
A) 45° B) 60° C) 90° D) 180°

xiii) g% ARG LR 6RIKIR IR 2BQ 70° 626M QAL 6RISIR URKIE 6R6E ?
A) 120° B) 135" C) 125° D) 100°

Xiv) A ABC 6@ m/B=90", AC @4Q ¢kl §Q D 9@° AC =24 6Q.5\. 626 BD Q 654H
6960 6Q.81. 2
A) 10 B) 18 C) 12 D) 20

XV) 66I6N 0uea 290! @9 Kaliaee! 7 62.81, 8 6Q.81. 8 6 6Q.71. 626m, QIR AR 6060

64.61. 6QRTlER ?

A)21 B) 18 C) 20 D) 30

XVi) 661GN GBF QLER 2IBsY 618! B IBY ERINIR JRFIKIR 2QI0 2 1 1 626m QAR Q19
LI 6R6S ?
A)5 B) 6 C)8 D) 7

XVii) 661G° QBN QLR YEOUR FBY ERISIA TGS 30° 626M LRER 2BsY RIS
IR A 6060 ?
A) 1800° B) 1080° C) 720° D) 900°

xviii) ABCD Q@@ AB=CD, 4B CD 626m 00u@e' @ |
A) ead B) AFIBAR o0 C) Zeoe D) @okQ

Xix) 6616N QAFIB0R 68R 68aTR 378 6 Fva | @R GFia 6B 18 & 626m Qw6
_ d.eawl
A) 22 B) 25 C) 21 D) 16

XX) 691N GG 6 691N AIRAR 690R YIR 6TH 8 APG! AR | FYRN 68TR 325 99

o0 696m TG 6J90 IR 6060 99l Foq ?

A) 325 B) 450 C) 650 D) 700



. Part-11 (Subjective)
AQIVNAIANER L2l ARQ G VUVER AAQ 66 |

@I2I6 AISER GULRAQ G Jails IPIRS |

¢4 do|@ Q@ @Géﬂl%ﬂlGQ emeal |

1. 902 g5 e G | (5x1=5)
Qi AR @l ARE ol AT 6716 ARY 750 | 699% 98I0 AR AR S|
250 G 6999 SRR oI AT ARY G 350 | 606Q CREORE ARG FEEALAR

8 SRIe gola AToR Ael 219G Fd QQ |

@l
AL K|
1 1 1
+ + =1
14+ X7 1+ 4277 1+ +x"
2. VUSTR 6 VTV 7S @Q | (5x1=5)
(x> =14x> +37x-26)+(x - 2)
@9
6 4 7

+ =
Rle @l Hy 3Ty xr6

3. 916 @Ql (5x1=5)
QR ABQ ANREATIR IR 6298 6LINEM YEBUIR 641G IRIBQ 6RIEIR ARl
acle 29|

@9l
AFIBRR SoR YNNG CRIEAIEE AL |
4. 9181 QR | (5x1=5)

A ABC 6@ m/ABC 8 m/ACB Q 2a8 Ari8Ea Qo Jodaq ‘O’ S96Q 68096M
8 @Q 6%, mLBOC =90° +%mLA |
a9

A ABC 6 4p @ ¢RIl 626m geldl @ 64, AB +AC>2AD |
k%



Class : IX
Time : 1 h.

€. QI6QIG AN RAQ FRIQ OR RAQT UT 6N |

) QIR ‘9lq A QIg VUL 6N RRALIRG ?
(@) Qe P91 (¢) 32 21 (9) 2R PR
i) QYR PRI OF 64R AN AGR ?
(@) QU8 6 AT (&) ]IQ SRR
iii) ‘G106’ RAER A 98 CIEq AR ?

(9) AP RIS

(@) ¢4 (@) 6 (d) 2161
iV) @°Q 602 AR QR deM ?

(@) 2eall (@) Seiml () ceel
V) QIR 2601 RI2IQ QT Q6% ?

() oye (&) 2199 (9) @9

vi) 2IAAIes FRIER 69R R1I0R JARIe 24, P9l 66Q F1QR ?
(@) NBIP ¥R (¢) AR PR () 6Qdlg R1OR
Vi) 2P 21018 9l @8l ?

(@) 2863 (§) 9@ (Q) 8966
viii) geleel Qlel 980 2Idia S cenl ?

(@) QG (¢) 2z (9) 69101
iX) QI9 6 ANFIA IPER @’¢ Qe ?

(@) ALY (&) Qe () usl
X) @4 JQIGER QG AUTER R AR 606 6TIYER ?

(@) 86RQ (&) URR () QeARQ
Xi) 69190 QUIQ 6a% JEfl SFLER JRAM ?

(@) AWERR (&) eae gRe () SRIAIP
Xii) ‘Q@l SR’ 98 QI @ ?

(@) RYOR @ (§) YRR FRIdIe (9) QRIKIEI Qg
Xiii) GHIR QLR PV 6REE ?

(@) dols (&) g (9l) S0

Xiv) U@ PRl QIR 2GEa &9 Qe 6416 @Jgem ?

(@) ANQ (&) Qe () 62l
XV) 6960 R4 6nle dAQ Flgdem ?
(@) QR (&) oGae (o) dissle

SHIKSHA VIKASH SAMITI, ODISHA =/
Pre Summative Assessment - 1 (2021-22)

S

By

Sub : First Language Odia
F.M.: 40

(1x20 = 20)

(8) 92N P

(Q) PRIRI AR

(&) 29e

() aor

(@) yaa

(Q) WIS PR

() ARIR

()) 6%

() QUSRI

(Q) 9geea

() AR

(Q) 691RQQIE g

(Q) g8

(]) AL

() QI



xvi) @ed QI Qe o4 R0 coin 67Isd FE. 28 gell @6 0I'g @'8 @ed ?

(@) g (®) e () Qo (Q) Qa1
xvii) AR F95 69 R I0Q KUY 69IR8 ?

(@) {9l (@) Qe () Q1 (Q) FEae!
xviil) ‘@’ @ ‘@’ 96 ‘@ @ ‘Q dem Q62 F @8 928 ?

(@) | (¢) @ (q) 9 (a) 8
xix) I FEQ dOR @’ QAN ?

(@) QdeaIg (@) QrgaQ (9) dege (Q) geue
xx) ‘agl’ 26Q Q6 692 You 9 ?

(@) Q0 goe (&) 2R goye (a) 9@ geue! (Q) ‘@ goug

- Part —1I (Subjective )
dQIKIA1I6R L2l dHEQ @ QVUAVECA VAR 6LER |

Q1216 AIgeq GUARYR! CHMIYER RiIT ISIRS |
NS FYR RV FERANFACR 6 |

€. gIg €ooQ §IR FRIEQ RAQ @ |

PI1D FIORR GRIE TR 699 YRR ZINNRG! 088 906 9eRq ZIERISR! K@Q ?
@l

‘QARQ 216 6 2RISR 02’ YOI EARE ARV AHACR AR AR |
9. gi9 €00G G FRIEQ RAQ @ |

QIS F2Ql SFIRER 7’ F6EIal GRE LIOEE 6oln 0oed ene |
@a

QEQIYEE 62IR IRl CIEFR @8 @ dla 6dadl 6dI0Ined, d06 “Addein” aGa!

ZRAREER LIRS AR |
. AgAr AQRIE 6ad | (gIS 808 S8 F1RIER)
“do - deall — @6dlic — dQal
QIR AR — L6IIRG — 1A,
9@ — 0GR — @@ — dIeQ — A
PR, PR, @1 17

(5x1=5)

(5x1=5)

(5x1=5)

@9l
“QEIRQ YRG! gen PR YRG! IGEE 17
¥. 99 €00% GIQ FIIEQ 6AERIET 6916 QORI 6QY |
@) J06d d9fdl (QUQd, Y9, J9Sda RIed, YdRIR, JoRIR, caseel )
d) 2F PIPRR AYY (ATRF, FRY AYY, ARG JRIQ, AVUARIL AEREY, AR, 688Rel)
) §16 ARE AR 8 (RUKS, YD, §16 IRIF, 96N, TRUNIE, UG ANR, IRTR,

csg@ell)

(5x1= 5)

k%%



RYaT R WAl A o
Pre Summative Assessment - 1 (2021-22) %
faug: - P
: - qEfet Y.¥. -80
T\'ﬁh’%ﬂ?:ﬂ: (Objective) (axR0=Y0)

AHRATTAT STRA AR | 31eT: TASHTA TR faments afet oy g Rige |
1. &: 9 Rig: = ufdeafa = ?

(A) HRIX: (B) INGRP: (C)INRP: (D) YRIRb: IR ————-
2. Q4 Pl HI ORI Ferel fa=r wiasafey ?
(A)FH (B) A (C)Td (D) T IR ————-

3. TATGERIEN RIS Uy i STeeRsnd ?
(A) T B) TP (C)Sagpents (D) geligpenty IR ————-
4. ige: RY: g=medt wafy ?
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